oo gbooboboobog

2001MMoO04 D OO OO
oooo

1 0000

000000000000,00000,0000,0
000,0000000,0000000000000
0000000000000000000000000
000000000000 3040000000000
0000000000000000000000000
0000000000000000000000000
0000000000000000000000000
000000000000000000000000
0000000000000000000000000
0000000000000000000000000
0000000000000000000000000
0000000000000000000000000
0000000000000000000000000
0000000000000000000000000
0000000000000000000000000
0000000000000000000000000
0000000000000000000000000
0000000000000000000000000
0000000000000000000000000
0000000000000000000000000
0000000000000000000000000
0000000000000000000000000
000000000 Mm[1, [3)000

020000000030000000040000

2 00000

0000000 y0 p000000 21,2,000,2,
0000 .00000000000000000000
0000 21,2,,000,2,00 y0OOODOOO0O0O0O0
x1,20,000,2,0 yOOOOOOOOOOOOOOO
000000000000

Yi = aog + a1T1; + asre; Y00 0+ apzp; + €, (1)
gobooooboooooO0«=1000,n

0000000000 0Q0OOdlinear multiple regression
model) 00 00OO0ODODDOO (zy) D000 nDODO
goobooboboobboobbooboboobooo
(z,,000,2,) 0 (p+1) 000000 nOODODOO
OooopOOOonOO

Y =ao+ a1x1 + axxe +0 00 + apzy (2)

Do0oo0oooooooo0oOn xyg,we 000,z
gooooboo gy 000000

2001MMO45 0O OO0

goood

n

Ze?ﬂyi—(ao—o—al:cu—l—ag:vgﬁ—{]DD—i—apxpi)E? (3)
=1
000000 ay,az,000,a, 000 d17d2,DDD,dp|:|
000o0o0o0o0ooob eddddoo tO0Oooooa
ob00yO00O00000000D0 egOOOOOOODO
oooo

1. 0000060000000 (E(e;)=0)
2. 000000000000 (V(e;)=0?)
3.000000e,000,,0000000

g o000
3 00OO00ooooooooo
ooDoooon
yi=z0+w,000i=1000n

00000000 a=(z1;,000,2,) 0 pO000
oooooe=((,,000,0,) 0 pO0O00O00C0O0OO
000w, 000000y, OOO0OO0O0OO0O00O0O0O0
(z1,41),000,(zn,y) 000000000 §00000
000000000000 r(P)=y; 0 26000000
0000000 (least squares estimator)dyg O
n
ri(éLS)2:minngi(0)2
i=1 i=1
000000000060 0000000000
goooooboboooobobobooobobooo
gooooobOobOOoooobobobooobobooo
ooooooooooooooooao

goooooooooboooooooooboooooa
(least absolute values estimator)f,; 0000000

ZD ri(f) 0 = mz’nQZD r;(0) O
i=1 i=1

0000000006, 0900000000000
0000000000000000000000 %0
000000 (leverage point) 00000000000
050000 €(01,X)= 0000

Rousseeuw(1984) 000D OO OO0O0ODODOOOOO
LMS OO0 (least median of squares estimator)fr /s
gooooobooog

median(r?(Opas),0 00,72 (000rs))



= mingmedian(r?(0),0 0 0,72()) 4 0oOoOOo

0000000 O0Hampel(1975) 0000000000

Lus O €, (0nms,X)=([;;] O p+2)/n 0000000000 Ruppert and Carroll(1980) O

DDD”ijDDEﬂ&M“ﬁ*%DDDDDDD 000000000000 0000000000000
0oo Y0000 000000000 3000000000000000
oooo
i=00000x=200000000000002,=0
O0z;=0000000000y=0000

0 0 O Rousseeuw(1985) O LTS 00 O (least trimmed
squares estimator)GLTg 0

h
Z T(éLTS)?;n = ming Z T(@)?:" 0 2 Salinity Data
i=1 i=1
DDDDDDDDDDDDh:%H&DDDDrwﬁnD (? ﬁg CT)2§%5 %ﬁ
r?(0),000,,2(0)00+000000000000L7s 2 | 76 5 | 23.873 | 7.7
000000000 é,ys 000000000000 3 | 46 0 | 26417 | 4.3
000 n~Y2000MmM [2], [40DO 4 4.3 1 24.868 | 5.9
31 OOoOooo 5 5.9 2 29.895 5.0
WOooooo 6 | 5.0 3 [ 24.200 | 6.5
DDDDDDhDDDh:gLHWEH 7 | 65 4 [ 23215 | 8.3
8 | 83 5 | 21.862 | 8.2
0000p>10p0000000A>([2]+10000 o Ti01 T o 22272 132
000000000D0OARODOODODOOODOOO LTSO 0 32 1 12380 | 126
voooooooooo 11 [ 126 | 2 | 25.144 | 104
12 [ 104 | 3 | 22430 | 10.8
01 100000000 (Rosner(1977)) 13 | 10.8 4 21.785 | 13.1
14 [ 131 ] 5 [ 2238 | 12.3
TT9 T3 2751767181910 15 13.:%L 0 23.9i7 10.4
16 | 10. 1 | 33443 | 105
40 | 75|80 | 83 |86 | 88 190 | 92 | 93 | 95 T TTos | 2 22850 | 77
18 | 7.7 3 [ 22686 | 9.5
19 [ 100 | 0 | 21.789 | 12.0
e h=[2]000 20 | 120 | 1 | 22.041 | 126
h=5000 AO0O0O0O0O0O0000O0O00O0O 21 121 | 4 21033 | 136
no) 22 [ 136 | 5 | 21.005 | 14.1
o 5 o - 23 [ 150 | 0 | 25.865 | 13.5
anlmweé L1 ()i 0=91.6 24 | 135 1 |26.290 | 11.5
e h=[3]+1000O 2 | 115 | 2 | 22.932 | 12.0
h=6 , ) 26 | 120 | 3 | 21.313 | 13.0
Minimizes Y0_ (r?)i:n 0 0=90.7 27 | 13.0 | 4 | 20.769 | 14.1
e h=[3]+2000 28 | 141 | 5 | 21.393 | 15.1
h="7
Minimize; ZLI(T2)Z—WD 0=89.6
000O0LTSO000000000000000O0Dn 03 00000000000
000 LMSOOO ([2]+1)000000
o [5]+1=6 oo 00 0000 0o 00
T 86495 1 G_g0.5 (intercept)  9.59026  3.12509  3.069 0.00527
2 o 077711  0.08622  9.013  3.5x 107°
0000LTSO0000 90.70 h=[%]+1000000 T2 g gggggi gigégg E g;gi gﬁzggi
T3 . . . .
nooood R>=0.8264

0000000RD [3+410000 LTSOO00OO

90.70 LMS 00000 90.500000000000
000000000000000000000000
00

O000h=[2]+1000004], (51000



04 0OO00OOOLMSO

oo gooog
(intercept) 40.8877 O
Tl 0.3312
2 0 0.1377
T3 0 1.4678

000 R?*=0.976

05 00000LTSO

oo goooog
(intercept) 36.9751 O
x1 0.3847
2 0 0.1157
s 0 1.3187

000 R?*=0.960

od

000000oooooos0l1e0000000000
goooooooooooooobooobooobooboooo
050 1600000000000 OOO0OOOOOO
0000000000 Shapiro-Wilkk OO OOOOOO
00000000158 00000 0060000000
gboooboooooooooooooboboobooooo
0000000000o0o0o0oo0ooooo-QO
goooooooooooooobooooOobooooo
gboooooooooocoooooooOooooooao
0000000 ShapiroWilkkDOOOOOODOOOOO
oo0o0oooo0o0oooooooooLsSoooog
goooooo

g =0.7T77x1 — 0.02622 — 0.29523 + 9.59

goooooboooooooobooooboboobobooooo
goobO0oD0o0ooOooo 2500 2500000000
gooooooOoobobobooooobobooooo
ooooooooOoO0os0 1600000000000
Carroll O Ruppert(1985) 00000 30 160000
goopDOopDOobD s0O0D00Db0b0OOoOobOoDOoD
gb00d 30 16000000000 O0OODOObObDOOb
000000000000 bs0040040000)0
goooboooOoobooboboooboboboooboo
goooooooooobooobooooooooooo
0000000000000 0O0O0oOoOoooO (0O
gboO0o 2000 20000000000000D0O0OC
0l60 1700000000000 OO0DDOOOOOO
goooo0 30 1600000000DODOOODOO
gooobooboooboOoboboooboboboooobo
oooooooooooooooooo
00o0o0oO0oO0oO0o0oooooOo LMSOLTSOOOOO
00o00oooooooLMSOOOOooOOoOooooog

9 = 0.331z; — 0.138z2 — 1.468x3 + 40.888

LTS O

7y = 0.38521 — 0.11622 — 1.319z3 + 36.975

LMSOLTSO0000000000000000000
000000 2500250000000000000
0000000000000000000000 50
16000000000000000000000000
0000000000000000000000000
0000000000000000000000000
0000000000000000000000000
0000000000000000000000000
0000000000000000000000000
Om5 000

Shapiro-Wilk 00O (W = 0.96, p-value = 0.158)

01 QQoooooooooond (LS)

Normal Q-Q Plot

Sample Quantiles

Theoretical Quantiles

Residual
o
1
s
=
Y
3

Estimatedrespose

goboooooao



02 000000 (LMS)

< 16
(=R
o
E
2 5 2423
x <
11 19
o S 4617 18%
1 g
T T T
0 5 10
Estimatedrespose
gooooodoooood
03 000000 (LTS)
16
8 —
s g 4
=) 5
w
& = - 2423
11 199, og
o 3 4627185%
18
T T T
o] 5 10

Estimatedrespose

oooooooooooooooooooooooo
04 LS:0D0030160000000000000

26
21

5 9 24

11 1518

00030 16000000000000.8754
0000160 17000000000000.9096

ooboobooooooobooobooboooood
gbooooooooobooooooooobooboooo
gboooooooooooooooboooboooobooboooo
gobooooooooooboooooooobooobooo

05 LS:O00 160 17000000000000OO

- 1 26
29
1024 250

4 6 22%

gobooobooooooo

5 0000

ooooooooooooooooboooooooo
ooooooocOooboooOooooooboooboooboooo
gobooobooooooooooooooooboooon
gbobooobooobooooooooooooooobooon
gbobooobooooooooobooooooooooon
gooooobooooooooooooooooooboon
oooooomooooOooOOOOOOOOO0O000
ooooooooooooooobobobobobooooooo
goboboobooboooboooboooooooooon
gbobooobooooooooooooooooooon
gobooobooooooo

gobobooboooboooobooooooobooooobo
ooooooooooooooooooboooooon
oooooooooooooooo

good

1] 0000000000000 DO0O0DOOO0DOO
000000000 D0O0ODOODOO (1996).

2 0000000000000 0DDO0O0D0OO0O0 SO

000000000000 000Vold 110 NoO 30

568-570(1997).

Chatterjeed SO and Pricel] B: Regression Analysis

by Exampled Wiley, New York(1977).

[4] RousseeuwO PO JO Least median of square regres-

sionOJournal of American Statistical Association

VolO 790 871-880(1984).

RousseeuwPO JO and LeroyOAO MO Robust Re-

Detectiond WileyO New

3

5

gression and Outlier
York(1987).

() 0000000000000 DOOOOOOOO
0O (1983).



